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>ttcp -r -P6
hosts
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>ttcp -t -P6 fosts-name TCP
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4-4-1
4-4-1
CPU |Pentium4 (2.2GHz)
Memory | GByte 256MB ><
NIC|1000BASE-T/100BASE-TX/10BASE-T
DISK:|80GB HDD
OS:|WindowsXP(SP1)
8192Kbyte 2048 16Mbyte
4.3
1.
( ) 4-4-2
4-4-2
Kbit/sec Mbps
16,777,216Byte| 16,777,216Byte| 16,777,216Byte
21,783msec 22,154msec 22.854msec
770.2KB/sec 757.3KB/sec 734.1KB/sec| 753.9KB/sec| 6030.9Kbps 6.0Mbps
Kbit/sec _|Mbps
16,777,216Byte| 16,777,216Byte| 16,777,216Byte
21,793msec 22,155msec 22.864msec
769.8KB/sec 757.3KB/sec 733.8KB/sec| 753.6KB/sec| 6029.0Kbps 6.0Mbps
Kbit/sec _|Mbps
16,777,216Byte 16,777,216Byte 16,777,216Byte
22,433msec 23,000msec 24,421msec
730.0KB/sec 712.0KB/sec 670.0KB/sec| 704.0KB/sec| 5632.0Kbps 5.6Mbps
Kbit/sec _|Mbps
16,777,216Byte 16,777,216Byte 16,777,216Byte
22,448msec 22,999msec 24,421msec
729.0KB/sec 712.0KB/sec 670.0KB/sec| 703.7KB/sec| 5629.3Kbps 5.6Mbps
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6Mbps
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4-4-3

Kbit/sec Mbps
16,777,216Byte| 16,777,216Byte| 16,777,216Byte
21,654msec 22,156msec 22,854msec
774.8KB/sec 757.2KB/sec 734.1KB/sec| 755.4KB/sec| 6043.0Kbps 6.0M
Kbit/sec Mbps
16,777,216Byte| 16,777,216Byte| 16,777,216Byte
21,664msec 22,166msec 22,856msec
774.4KB/sec 756.9KB/sec 734.0KB/sec| 755.1KB/sec| 6041.0Kbps 6.0Mbps
Kbit/sec Mbps
16,777,216Byte| 16,777,216Byte| 16,777,216Byte
23,736msec 21,989msec 21,984msec
690.0KB/sec 745.0KB/sec 745.0KB/sec| 726.7KB/sec| 5813.3Kbps 5.8M
Kbit/sec Mbps
16,777,216Byte| 16,777,216Byte| 16,777,216Byte
23,746msec 21,988msec 21,983msec
689.0KB/sec 745.0KB/sec 745.0KB/sec| 726.3KB/sec| 5810.7Kbps 5.8Mbps
6Mbps
( ) 4-4-4

4-4-4
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3 IPv6
3
( )
3 (
) JPEG
( > < (r,g,b) x< > > )
TCP 6Mbps
UDP TCP
6Mbps
Q). =1
=1 4-1
4-1 > =< (r,g,b) =< =< =< 6Mbps
=320[pixel] =240[pixel] (r,g,b)=3[byte] =2
4-1
320 < 240 =< 3 < 2 x 1 x< 6Mbps(6000Kbps)—=-8
6000><1000+8—= 320><240><3><2><1 1.627 /sec
1 1.6
). = 0.5
= 0.5 4-2
4-2 > =< (r,g,b) > > < 6Mbps

=320[pixel] =240[pixel] (r,g,b)=3[byte] =2

4-2
320 > 240 > 3 > 2 > 0.5

6000><1000+8—+

1 3.25 300msec/

4-4-6

320><240>=<3=<2x<1

6Mbps (6000Kbps) =8

3.255 /sec



3). = 0.3

= 0.3 4-3
4-3 > =< (r,g,b) x< =< =< 6Mbps
=320[pixel] =240[pixel] (r,g,b)=3[byte] =2
4-3
320 >< 240 >< 3 < 2 x< 0.3 x< 6Mbps (6000Kbps) =8

6000><1000+8—+ 320><240><3><2x1 5.425 /sec

1 5.425 5.425 /sec 184msec/
25 30 /sec 5 1
3 3
1PV6
5 6 =0.3
2 3
5 6 = 0.3
20
0.8

320 >< 240 < 3 < 2 x 0.8 < 20 %<8 58,982,400 bps 58_9Mbps
1
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